
x

0
Õ: =

0

x:
xÕ:

x
µ−
Õ = − −VxÕ

x

0
Õ:

µ

=
x

0

x:
xÕ:

x
µ−
Õ

µ

= ηµν x
ν−
Õ

0
Õ:

motion
=

µ
0
Õ:

µ

Õb � Rd
0

∞ÈR vanish at ∞�

∫
dx

x
µ−
Õb x\ = −

∫
dx

xÕb x

µ
\

Õb
Õ

xL =
xÕb

0

x:
xÕ:

x

−
Õ +

x
µ−
Õb

0

x:
xÕ:

x

−
Õ

µ

=
xÕb x

0
Õ: +

x
µ−
Õb

x

0
Õ:

µ

�

Õb
Õ

∫
dx

xL =

∫
dx

Õb
Õ

xL =

∫
dx

xÕb x

0
Õ: +

x
µ−
Õb

x

0
Õ:

µ

=

∫
dx

xÕb x

0
Õ: − xÕb

x

µ
0
Õ:

µ

=

∫
dx

xÕb
x = 0

0
Õ: −

µ
0
Õ:

µ
X Z

µ

νδ
µ Õ: − ν−

Õ
0
Õ:

µ

=
ν
Õ:

ν
Õ: =

ν
Õ: + ν−

Õ
0
Õ: + νµ=Õ

0
Õ:

µ

� LHS =
ν
Õ: − µν=Õ

0
Õ:

µ

+ ν−
Õ

µ ∗
0
Õ:

µ
X Z

=
ν
Õ: + ν−

Õ
0
Õ: + νµ=Õ

0
Õ:

µ

− µν=Õ
0
Õ:

µ

− ν−
Õ

∗

0
Õ: =

ν
Õ:

motion ηµν x
µν=Õ = − −VxÕ

− −VxÕ
=

x

0
Õ:

motion
=

x

µ
0
Õ:

µ

=
x
ηµν

ν−
Õ = ηµν x

µν=Õ

constant solutions



−Vv = 0

=Vv = m2
� min=vac


